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“Godan” is the novel written by which of
the following famous author ?

(A) Jaishankar Prasad

(B) Suryakant Tripathi

(C) Makhanlal Chaturvedi

(D) Munshi Premchand
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Which of the following is the highest

civilian award of India 7
(A) Bharat Ratna

(B) Padma Bhushan
(C) Padma Vibhushan
(D) Padma Shri

fefefen § @ f R @ A
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(C) 267EH (D) 30 e
Which of the following days is

“Constitution . Day

celebrated  as

-(Samvidhan Divas)” in India ?

(A) 15" August (B) 26" January

c 26" November (D) 30'" December
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Which of the following contains “Lactic |

I_hcid"? . 2
S Surd (B) Vinegar

(D) Tamarind
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“G}tdi Padva" is a spring-time festival of
which of the following Stdtes 7
(A) Uttarakhand

(B) Maharashtra
(C) Himachal Pradesh

(D) Gujarat
I
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(C) aﬁmaﬁlmﬁ-ﬁm

(D) & TAEA
The responsibility of conducting the
decadal census rests On which of the

following ministries ?

(A) Ministry of Housing and Urban
Affairs

(B) Ministry of Planning

(C) Ministry of Information and

~ Broadcasting

Ministry of Home Affairs

qEaERR. Em 6 g
Arffige H Y el @ e ?
(A) FTIE ®) T
@ Twhet (0 T

The headquarters of the National Human
Rights Commission is situated at which
of the following ?

Erarneid wilh CamScannaer

(A) Bengaluru (B) Mumbai
(C) NewDelhi (D) Mysuru

Wht is the helpline number t0 register &
complaint for Cyber Crime ?

(A) 1910 ' 1920

© 1930 ' ") 1940




. Em Eﬁmw%? 13, AR 8 Tgemdt sfed w1 fraw T gEet
(B) gt&m ammyehl, geea g foflan & A fwss g sy feam
(C) e, e, = HEIR I
(D) ¥ar, geem, i (A) ¥R T B
What is the tagline of Uttar Pradesh (B) . T afafy
Police ? (€) e ik
(A) Satyamev Jayate D)
(B) Suraksha Aapki, Sankalp Hamara _ affa o . _
(C) Seva, Veerta, Bandhuta The idea of a nationwide GST in rlntdll]z
(D) Seva, Suraksha, Shanti }VE;-IS ﬁrst .,meDSEd by which o
. ; . ollowing ?
10. g e fasrm help (A) The Kelkar Task Force
T % Fefefea 4 8 ﬁ{ﬁﬁﬁﬁ% ? (B) C.Rangarajan Committee
(A) ST (B) =Y=H (C) Basel Committee
©) X (D) = ’ (D) Rekhi Committee
Aryabhatta  Research Institute ©
Observational Sciences is located in 14. wra @1 Frefefad G aeRl qélzll?aﬂ
which of the following districts of T & 9Ty K&yﬁmmqﬁm% _
Uttarakhand state ? (A) HER (B) 4T
(A) Almora (B) Champawat Py HeEE
(C) Nainital (D) Chamoii (C) HeH B BEE
: . Which of the following neighbourl 24
11. GZGW‘{?’fWW% [ countries of India does not share land
jes with India ?
(A) 7T ATH AL boundaries wit
1 TE 79 A) Myanmar  (B) Nepal
(B) ﬁﬂgﬁmﬁa EC; ngtan (D) Maldives
©) :
(D) TR ATE & 15. iy oftrn 3 Frefafea § & fRa Q@
What is the full form of G20 7 6 T B ?
(4) Group of Twenty (A) TS (B) =M=
(B) Gathering of Twenty (C) S9H (D) e
(C) GrandTwerty “Tokyo” is the capital of which of the
(D) Glory of Twenty : : : 21
; ollowing countries of Asia ?
12, T o g g1 au-famia aﬁmg (A) Thailand  (B) China
; ﬁ *tm“'ﬂ*ﬂi m'hﬂw%' Eﬂﬂ? (C¥ Japan (D) Bali
7 @l 9N . .
?A;ﬁqwm (B I 16. ¥gw Usa IMfEw H @ s Sham
(C) TITA (D) WENg froferfiaa § @ frm 76 g Riffe fe
India’s largest inter—departmental Tyl ?
convergence program “Operation Kayakalp™ (A) ESHT (B) HER=E
was launched by the Govemment of (©) (D) W
which of the following states 7 The Grand Canyon located in the United
(A) Himachal Pradesh StaFes o_f America was carved out by
(B) Uttar Pradesh which of the following rivers ? .
() CuwE (A) Hudson  (B) Colorado
(D) g?ia.iipm'-'\'-"i‘u'wlr'lm‘ﬁnrf.mwwnwrﬁpmmmrfrdmw,gi}m‘, E:Glufnbla (D) Y’I.lkﬁﬂ
o bl inlo bl bl e i S o Vi
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17. qﬂmﬁﬂﬁlﬁiﬁﬂﬂﬁmﬁﬁﬁfﬁ% ?

(A) FEER  (B) ST HETETTR
) fewemmm (D) FTTA ! WIS
The Narmada falls in which of the
following 7

(A) The Arabian Sea
(B) The Pacific Ocean
(C) The Indian Ocean
(D) The Bay of Bengal

7 i % 7w S T iR F F
ot St 51 TOITH R # 3 farde w9 @
FA A AHNTE |

(A) @ (B) WG

(C) (D) (dfH

Name the songs which celebrate the
divine love of Radha and Krishna and

especially popular in Braj.
(A) Khayal (B) Charkula
(C) Kajri (B Rasiya

19, & daTe 3 frefefaa # & fae 3eamed
%0 I fradl 6 giawr & f&g car-
P (Paat-Mitro) TReyH A 1 8 7
(A) SE(v2&T) (B) F9H
(C) tm (D) A
Ministry of Textiles has launched

“Paat-Mitro” application to facilitate
farmers producing which of the following ?

(A) Jute (B) Cotton
(C) Silk (D) Wool

20. Rt Prefefea 3 & fem vsa & w=9
ArRig T e & 7
(A) faEw (B) ufvaw &me
(c) fTafFem (D) AifEm

“Thangka” is the most popular art form
of which of the following states ?

(A) Bihar (B) = West Bengal
(C) Sikkim Yy~ Odisha

18.

21.

22.

23;

24.

PN iy
THrT s o, s 0 i B L A Tl S e TR P o Ya =
":DH‘I BT sl e R DO A A T S

Preferfigs 3 @ frad Gfum % WS 78

& fopmdl (@iT<v) =) femmea fopan o s @
[ 6 | o 7

(A) ft FgeTe =

(B) #fit Im fargrdl Arrae vasTe

(C) it BFg BT

(D) it Afe T

Who among the following had designed

the borders of every page of the
it with art

Constitution and adorne

ieces ?
A) ShriNand Lal Bose -
B) Shri Prem Behari Narain Raizada

C) Shri Sayed Haider Raza
D) Shri Jamini Roy —
# ¥, faga & fr=fafed
?aaﬁa Ffa 3 guifas dficaedat

© ﬁ (D)
. | %zlmég
%’.e)cently, the statue of Tamil poet and

ilost Thiruvalluvar has been
ﬂﬂgﬁgﬂhﬂ; which of the following
countries of the world 7 _
(A) France (B) Brazil
(C) Hungary (D) Switzerland
2016 % fmgie % wwa Frefeafed 3 <
HIH W & SuEA S 7
(A) iz ad
(B) i uamred g
(C) =t 3tee fagrd araet
(D) #ft uer. . saeamft
Who among the following was the Prime
Minister of India at the time of
Degnonetisation of 2016 ?

Shri Narendra Modi

(B) Shri Manmohan Singh
(C) Shri Atal Bihari Vajpayee
(D) Shri L.K. Advani

SWTEd T, T A % feferfad § @

ore wa= it &t ot 7
(A) FARIA (B) FHET
(C) =z fafa (D) whara

Prabhavati Gupta was the daughter of
which of the following rulers of the
Gupta Empire 7

(A) Kumargupta

(B) Samudragupta

(C) Chandragupta II

(D) Skandagupta

5 TR S BRI S T W s, T
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26.

Y% events of Indian

27.

Bkl
E R, e T VRS WL T U BT T
o

z’lim% g frefafad d & 1 Rl 8
ERll 7
(A) e = kil &mﬁm 3?%1'%?:1 iz 3 w&ﬁ:
(B) T3S iRl Waﬂ R wﬁ;ﬂr%:m TR s
= [E; %ﬁ'ﬂwm (Voter HeE?T% ;
fDlgiankcr) e

(D) fafia |
An economy in which there is both the
d the Government, is

private sector an :
known as which of the following ?

(A) Outcrossed Economy
(B) Hybrid Economy

(C) Merged Economy
(D) Mixed Economy

3N T FE
mmu? sfaar?
(A) fcrfare ST THER

@) @ aneed @ W gferE
R EIEIE

(c) et F fera

(D) T AT ETCH! 30,
Rabindranath Tagore had renounced his
“Knighthood” and expressed his pain
and anger after which of the following
National Movement 7
;@) The Jallianwala Bagh Massacre

(B) A baton charge of police on Lala

Lajpat Rai _
(C) Partition of Bengal
(D) Komagata Maru Incident

weireht ity Pttt o & e weifia & 7
(A) HITH ISATCH 3L
(B) &l IeaTeH

(C) Hr-YTe 3eaTe
(D) e e |

“Blue Revolution” is related to which of
the following ?

(A) Cotton Production
(B) Dairy Production
(C) Fisheries Production
[H}- Water Pollution

Arefafiad o & (29

(C) 39 (UMA
NG)

D :
Emgichﬁlﬁr?ﬁ Fn (PMO India)
“Digital B e following application aims at
mej o mpowerment” of citizen’s by
d-::rcumengts ?;EES'S' ol B
E‘r’ﬂIIet? CHizens digital document
A)  Voter Helpli igi

pime(.Bj/ DigiLocke
(C) UMANG (D) PMO India

B €1 3, 3w 2w & Frafira 3 @
foet & wom qoi-arferr i
Wﬁﬁmny%? W
(A) =YT (B) @IS

(Cy AT (D)
Recently, first all-girls Sainik Echml has
been inaugurated at which of the

following district in Uttar Pradesh ?

(A) Mathura gB; Lﬁ:gm{,

(C) “Agra D) Kanpur
fyoffaa 8 @ f59 &% ¥ RuPay Jedh W
T 51 R T HIGRE $hiee 1S i a1 8 7

C(A)  FmEHiaTEieTs 9

(B) Tl e d (Twaiad)
(C) FE

(D) FSEEs |
Which of the following banks has
launched India’s first Corporate Credit
Card on RuPay network ?

(A) ICICI Bank
State Bank of India (SBI)

(C) Canara Bank
(D) Indusind Bank

ﬁﬁ'ﬁ-ﬁi‘é’aﬁﬁaﬁ?m@aﬁ?ﬁrﬁ%
gemE 4 ?

FALA|
Who among the following was the
founder of Tata Steel Limited ?

(A) Sir Nowroji Tata )
(B) Sir Jamsetji Nusserwanj! Tata

(C) Sir Dorabji Tata
(D) SirNaval Tata -
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33.

34,

35.

PN PP TP e,

1

36.

(A)
C) W
The State governme
many “Collector” (n

B) @
(D) =w
nt shall appoint how

‘ ot including assistant
or additional collect

ors) as per The Uttar
Pradesh Revenue Code, 2006 9
(A) One

(B) Two
(C) Three (D) Four
TR 3 WRER 3= ey §
Wﬁﬁ@?ﬂ ’

At present what is the sanctioned
strength of Judges of the High Court of
Judicature gt Allahabad ?

(A) (B) 170

160 (D) 150
MRS e — T ¥
%ﬁwﬁ%ﬁﬁﬁ?
(A) 2 ifig Toeny g
(B) =it e iz
(C) = gt
(D) = w4, fagmiy

37,

Gobind Ballabh Pant
(BY" Shri Kalyan Singh

(C) Shri Yogi Adityanath
(D)  Shri N.D. Tiwari
T o &

T /Fgamfem wiw & R
farfergan ferrag orey
e ey

38.

"y g
TR -
(BHS) & 7
(B) wemg

(D) v 3R i

is the first Bindiversit:.r
Heritage Site (BHS) situated in which of

the following States/UTs of India ?
(A) Himachal Pradesh

(B) Ladakh

(C) Uttarakhand

(D) Jammu & Kashmir

PN TRV (L PPN Pl e et T PN LN T Wl O PV

6

==

ﬁqﬁﬁgﬁﬁﬂﬁqrﬂwm%

Wﬁ@EW,W@TWﬂ
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(A) oo wifay (B) T oy

©) PREim (D) iy
Which  of the following

comprehensive and visionary inj
that aims to empower women
security and self.
Uttar Pradesh ?

(A) Mission Shakti
(B) Mission Vanita
(C) Mission Sunita
(D) Mission Vamini

15 a
tiative
for safety,
reliance in the State of

ST 9 H T iy Frefefeg
m?ﬁ?ﬁmﬁ%wﬂ% 7
(A) S (B) faem

(C) Iz (D) s
The state border of Uttar Pradesh does

not touch to the border of which of the
following states ?

4 ¥ frg

(AY Telangana (B) RBihar

(©) Uttarakhand (p) Haryana

ST T S S e s
8 Pom e s o

(&) Sferter sgen

(B) =remee siaen Ny

(C) Hrerfiri sfegreny W

(D) foea sfrgen

The highest peak in southern [ndia is

Anamudi

that is situated in which of the
following mountain ranges ?

(A) Velikonda Range
(B) Balaghat Range
(C) Nilgiri Range
(D) Vindhya Range

L T
PN PP W, Ll L A PR TR PRI TRV A M T i o)



39.

40.

41.

42.

43.

45.

46.

47.

Axpmy . PRI
o Tl B0 P W 4 P TR e, et O BN i e T T o e T A A M AT Y

ﬁﬁ%ﬁﬁﬂﬂﬂaﬁ?mmmg?
(A) (B) =
© (D) 3

frfefd @ @ % o1 vz qem 2
A) TF (B) g
(C) Hiaen (D)
R & & Sfef v % vatarg
g o i 8 7
(A) ST, T
(B) hige, Herien
(C) H,
(D) =fse1, 9™
frafafes & & fre amy & fag fy
AT Y15 ETA R 7
(A) Y Sfie JTe - STy
(B) 1 UgI AT Rl - IS
(C) Gﬁtrséqgms‘f EWTB'K
) anfe | 37 a -
fimds wg-gm FEig sk
%g-i:a aﬁ:ﬁ%maﬁi% 9
(A) foarg ea - fian
(B) s - W=
(C) fier - ym
(D) fier - foame tfEm

frefefigs § @ s 999 @1 9
e |

(A) Hveard femma |
(B) gﬂﬂ%mﬂiﬁqggan@ﬂ?
. (©) %ﬂ:ﬁrjﬁwﬂmﬁmmmaﬁ'

i (D) FVRH % e dEr A § |
B3 i 1 & o 0 e e

{A)Eqa%;n (Bjaﬁmaﬁm

(C) (D) @1~

Y 6T T S F1 & 7

(A) =g (B) =y

(C) =yA (D) ayd

of % 5= = fgmal & |° vaifed wee §
B I FE 8 7

(A) FICHAFRF (B) &Y G
(C) F®R% (D) TISH FH

-

49,

30,

51,

>2. 48

5

54,

55.

(A) E‘é‘l+§m (B) Eﬁl+§ﬁt
(€ W-ﬂ-:ﬂ‘é‘a‘{ (D) =4+ v
T T T R 7w e
FEF s

(A) wefmfeg (B) friws
©) #HRE (D) v
TR W1 3 3 a1 sy § 7

(A) HEEEF fadh

(B) wmEAiYe fashgur

(C) TorETss sy
(D) ufAERS faimm

= 3 & weds fFm &1 sqeon w9 @
27

(A) THEfTsEen AR |

(B) v A fgei wiie |
(C}'a'g‘{ﬁ!ﬁﬁl

(D) TR

e AT A TV AN NIV AN PO ATV

DH-1



56.

57.

58.

59,

60,

61.

62,

63,

64.

T
®7
(A)
(B)
(C)
(D)

AT 39 ¥ & "R A R ey oy
ST Feferaprey

l T
8 T BER Y  fr

e TER & o 5
© w0 m

W

' EEHE‘-H
“TI?EEW IFHTE,HH?:,

T el
T3 B &1 5w o |
() 75 ST (D) o sreieen
ﬁqﬁf@aﬁﬁﬁqmmaﬁqﬁw
T Y Teg T 2
(A) "R (B) TEm
(C) fr=mm

(D) 77

6%,

167,

AT T e e i =
HEE T Y |
T TR F ™ R om w
HATETIA 9 |
?E’?Tﬁuﬁ W T T w
HEE 29 9 1
HEITH T frew Y aman o w
TR A 9 |



68.

69.

70.

71.

72.

73.

74.

15,

76.

s T
A LT R I T T
Tl =0 :
LAY IO AT
BN PN T TR SO LA T O

; DH.

TR % SR v s ) afomw @ @
(A)  Toreft =

(B) &1 o o ey

(O o 2w o

(D) 9™ =1 3= @

qﬁﬁd}mtﬁgﬁmﬂ?
A fews

C)

ig*; Y T HH Tl B

T PR § 2 v w2 0
(A) EPEFEIYE (B) wRaiy

©) Iz (D) Afrefiercor g
fre: Freferfed 3 3 fre 2 5

(A) %?ﬂﬁ (B) e

©) IEE (D) HREwE
el s form e R s 8 2 5

(A) fomrd (B) i

(C) Hwpa (D) S

o Forerpet uw 2 ' A
fopan-fergmmr 2 -

(A) wreraras S fsn

(B) =rmEmEs fFan- ity

(C) aiATTETS ffa sty

(D) e R fsmy
ﬁnﬁ‘fﬁaaﬁﬁ‘qg'waﬂmaﬁm
AL R 7 '

(A) =me
(©€) =gm
At firels weg-gm Rr-a a1
a1 Frefefaa 3 d s ar g o

(A) Fomw - snfit (B) mha - Remm

- (©) IfR-fmm (D) fimw - i

H 8 W g o A ¢
(A) T &
@ ww (D)

17.

T8.

.

80,

umber of
15 as thejr HCF anqg
We'can defip,
(A)
(B)
53

pairs which have

| 138 as thejr LCM,
itely say that
N0 Such pair exjs(s.

only one such pair exists,
only two such pairs exist,
many such pairs exijst.

Er%?ama’rm:m:am%eﬂwﬁ%ﬁq
wﬁﬁﬁmﬁa%mmﬁmm%;
If T 851 be divided into three parts,

Proportional to 1/2 : 2/3 . 3/4, then the
first gart is:

(A) 296 (B) 222 (C) 333 (D) 306
qmﬁaﬁ%m%mm%#nﬁﬁ B
@W%mﬁwﬁﬁﬁﬁzm%&
miq By fear |ﬁﬂtﬂaﬁwtrmznzﬁtg
nﬁmhﬁqgm:z@aﬁeﬁﬁ%ﬁm
A Hifdm |

81.

82.

% of people died due to cholera
:fglf:ge ar?d ::Eljue to that 25% of rem:_liniq
people left the viliage.The population is
then reduced to EF}.":'.S. Find total number of
people originally living in the village,

in a

1500 B) 2000
fé;:: 2500 ED} 3000

= PRARSTLATEY L A o or "
ATV W Sy il i
B ST A s AT



84,

85.

86.

87.

- ST Fal Prs, e[ TR 00k, T
. A TAF T 0 R T
P Py ST, P

DH-1

33 MR g1 a3 . 11 iy
¥ T e s ey ® | ¥ Sfrew e
'@B?lﬁ:} |

Y selling 33 et
the selling price Drigsqu cloth, one

%am Eer-:ent. I metreg, Fin
A) 209 (B) 259 (C) 509

T{Erﬁ‘rﬂﬁa‘dﬁ%%ﬂ. Ffeem g m
STHRY 219 T 12y 1y o7 | 58 2% arfirs;
amr@wﬁm,a’ruznmm@
fﬁlfﬁm%ﬁl

Sum was put gt simple Interest at
Seriain rate for 3 years, ﬁad it been pyt a%

1 BRET rate, it woyl
SAR20 more. Find the gy "4V¢ felched
) 6,000

C) 27,500

ains
the

(D) 65%

% 7,000
% 8,000

¥ & ﬁ%mﬁﬁm
%F’W?Smﬁﬁﬂ ™I | P
1 T&ean s iRy |

P, Q and R started g business each
Investing ¥ 20,000. After S months, P

withdrew 7 3,000, Q withdrew 2 4,000
and R invested 7 6,000 more. At the end

of the year, a total profit of 7 34,950 was
recorded. Find the share of P.

(A) 10600  (B) % 10250
(C) T 14,100 (D) %10,800
11 afemet &1 aftee 50 2 | 7f¢ Eet vy
RO #1 3iea 512 3t aibm BE H
3 59 2, 4 war w3 = |
The average of 11 results is 50, If the
average of first six results is 51 and that of
the last six is 59, then find the sixth result.
(A) 66 (B)8 (C) 110 (;}%ﬂ;

a9 3R HAT-3F FH F gU
mﬁ%: 9 3 12 fet & g
THd § | Ew § Uy w0 IR S -
10 ¥ tH-wF A FE w0 € @ w5
feraa et ® o g1 s 7

‘Diptesh and Tushar working separately

i ork i d 12 days
can do a piece of work in 9 an )
respectively. If they work for a du}t
alternately, Diptesh bf_:%lgnm z, |;1 : hnlw:
many days, the work will be comp eted
(A) y[ﬂ (B) 4144 (C) 11 (D) 4f3'4

10

88. 3w 14, 10, 6, 2,

- H 1457
Hifsme | T
Find the 14th
141 lﬂa ﬁ-: 2, e, terrn o the SEquEnCL’,

(A) 34 (B

)-38 (C) - 4 (D) -4
89. e w ’

Wmmﬁaﬁﬁ—m
i mnﬁiﬂﬁ%ﬁm”*ﬁﬁ

2 333,
wm%ﬁ“ 183, 3 s

The base of triangular field ;
its altitude. If the cost
field at ¥ 24,68 per
find its base,

(A) 30 m (B) 60 m(C) 90 (D)

of Cultivating the
100 m? be 7 333,18,

110m

90, zr%deqzﬁﬁaxﬁ;ﬁaﬁnﬁrﬁsm%,ﬁrﬁ

500 31X it gt o o 3 e e iy ?

How many minutes does Vandan take o
cover a distance of 500 m, if he Tuns at a
speed of 20 km/hr ?

(A1 (B)125(C) 15 D) 1.75

7. 8. 919095 @1 I 2001
8 2007 1 37afis % AR frelt 9 7
AT 1 a6 3R 39 F @ Fre 9
HIAT T AT <3ien & -

Q. Nos. 91 to 95 : The following line
graph gives the ratio of the amount of
imports by a company to the amount of

€xports from that company over the
period from 2001 to 2007 -
ey ;

Ratio of amount of Imports to Exports bya
Company over the Years

2001 2002 2003 2004 2005 2006 2007

T4/ Year
O1. e and 3t et % Pratar % s s
A o7 7
The imports were minimum

proportionate to the exports of the
company in the year

(A) 2002 (B) 2003
() 2004 (D) 2005 _



92.

fer mu At 4 | fyad
il a5t 4 fgfa amame @

In how many of the given years were the
exports more than the imports 7

A1l B2 (3 (@4

93. dfZ 2002 H HTH FT M T 260 Fire

04,

95,
E‘i w3

96.

B sy ey

o, 1 2002 H F F1 ffa o .

If the imports of the company in 2002
were T 260 crores, the exports from the

company in 2002 were
(A) T 360 FUS / T 360 crores

(B) T325 FUE / T 325 crores
(C) 310U / T 310 crores
(D) ¥ 275 %08 / T 275 crores

2003 & 2004 T AT # fohaa wfowa &
Faw 7

What was the percentage increase in
imports from 2003 to 2004 2

(A) 56

(B) 67

(C) 82

(D) 31 H9FT 2/Data inadequate

afe 2004 T AT T 240 HUS I T
2004 31 2005 ¥ fireaRt F# 11 T 500
S o1, 91 2005 H A qr ?
(A) T200%TE (B) T 250FUS
(C) T420%FUg (D) T450%TS

If the imports in 2004 were T 240 crores
and the total exports in the years 2004
and 2005 together were ¥ 500 crores,
then the imports in 2005 were

(A) T200crores (B) T 250 crores
(C) T420crores (D) <450 crores
7 ¥ v i A A aa F o=
FY HI gO9 A=S d@ H GEHA 8 ¢
AR, gfewat, ATe

Choose the Venn diagram which best
explains relationship among given items :
Animals, Vegetables, Potatoes

63 w S

Kele

% »©

(C)

i

98.

99.

100.

11

-

@t afer w amia ) ﬂmquiﬁ
T, 37 3ttt 3 ke o i
TR T 7

In the given figure, if Triangle represents

octor, Square represents Lawyer and
Circle represents Literate, then ‘what is
the number of those Doctors  and
Lawyers who are Literate 7

3
6

8 5

(A)3  (B)5 (C)6 (D) 8

e+ 7 ared w2, “ YR,
37 g 2 3~ e g R, @
18+6+7%x5-2= 2

If “+' stands for division, ‘+’ stands for
multiplication, *x’ stands for subtraction
and ‘-’ stands for addition, then
I'SEREEE— — 2 = 7

(A) Te (B)18 (C)20 (D) 22

= fawed ® 2 4 amgh (X) 7l

i Bfy T |

Choose the correct mirror image of the

given figure (X) from amongst the four
U ©@ U ©

alternatives.
ol oM ﬂ

2 @G @
(B)(2) (C)(3) (D)@

(X) (1)
(A) (1)
frefefan v #, w6 w= femn o @,
Fah a1g =1 v fqu e &, fd 4 o fon
Y Weg % A& HT ITAN Fh F&I AT
T G 8 | 98 W T I |
In the following question, one word is
given, followed by four words, one of
which cannot be formed using the letters
of the given word. Find that word.
RECOMMENDATION
(A) MEDICINE (B) MEDIATE

(C) MONITOR (D) COMMON

T S T S L U o D T F ] DU U T L e % S SR A T Y WU T A
DH-1
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102.

103.

104.

105.

106.

= P T s o o, P Wi P P LN T P R T oy Tl PN P ATW P e, gt
L A T A TR !
P S T

DH-1

101. mﬁaﬁraﬂqm?ﬁﬂémm’i@mﬁﬂaﬁ

T T 9 8 T o R g iy 7
Which one set of letters when
sequentially placed at the £2aps in the
given letter series shall complete it 7
CB_CALBACB_CA_HAC_D

(A) "ADDBBB ~ (B) ADDDDR
(C) BDDDDB (D) BBBDDD

few 7T foredt & @ w7 W ey T St
AT T U HT

Choose the correct alternatiye from given
ones that will complete the series :
12,23, 34, 45, 56, (M

(A) 67 (B) 69 (C) 71
LU 1 AT N
(A) =% (B) 3ffedtsm
(C) 2m (D)
Melt : Liquid - Freeze : (7)

(A) Ice (B) Oxygen
(C) Solid (D) Pressure
DBMS:SMBD::]AVA:(?}
EA; AV]A ) JAAV
C) AVAJ D) AAV)

Pt st ot 8 ¢

How many squares are there in the
following figure 2

B
(A) 12 (B)13 ()14 (D) 16
U Sl 9/ I w2 2 s 10 R
ufRem ot 3R e 8, i o gea # sk
7 forft =reran 2, R & 2 e 2 3 14
fehed? =rera 2, foe amd ean 2 sk 4 Rty
A1 & HI 37 F a7 qea 2 3 4 Rl
AT & | 9 S 37 o A e g w
27

(A) 10fsdt . (B) 11fHH

(C) 14 Feeht (D) 17 fesft

A person starts from home and moves
towards west by 10 km, then turns right
and moves by 7 km, again turns right and
moves by 14 km, then turns left and
moves by 4 km and at last turns left and
moves by 4 km, ng far the person is
from home position

(A) 10km (B) 11km

(C) 14km (D) 17km

(D) 78

12

I1. ﬁt%mﬂaﬁﬁ%ﬁaw
e Far 2 ﬁ?ﬁﬂmuﬁaﬁ
TS ST R |

1. 78 | 98 =faagt & v
& fmg g | o

IV. & | 398 Jearesha wqrft |

(A) Fae 1 311 aieq & |

(B)  heret 11 37K 111 Horeger & |

(C). Sheret 111 Horaq 2 |

(D) & IV oA 2 |

Question given below consists of a

statement, followed by four arguments

numbered I, II, III and IV. You have to

decide which of the argument(s) is/are

‘strong’ argument(s) and which 1s/are

‘weak’  argument(s) and accordingly

choose your answer from the alternatives

given below the question

Statement Should people with
educational qualification higher

" than the optimum requirements be

debarred from seeking jobs ?

Arguments ;

L No. It will further aggravate the

~ problem of educated unemployment.

IL  Yes, It creates complexes among
employees and affects the work
adversely.

II. No. This goes against the basic
rights of the individuals.

IV.  Yes, This will increase
productivity.
(A) OnlyIand I are strong.
(B) Only II and III are strong, W
(C) OnlyIlis strong, Eﬂ;
(D) OnlyIVis strong.
(=]

e ]



gromd : 1. SATEAT § a1 36 G
qEFAFATR |
11 ¥t = eiel: IR B € |

et RO | SFatrea 2 |

e w11 3iaffEd 2 |

(C) A 1A A g |

(D) AW IFRAR I Fafifea g |

In the question below a statement
followed by two assumptions numbered I
and II is given. You have to consider the
statement and the following assumptions
and decide which of the assumption/s
is/are implicit in the statement.
Statement : “If you trouble me, I will slap
you.” - A mother warms her child.

Assumptions : _ .
1. With the warning, the child may

stop troubling her.
All children are basically naughty.

Only assumption [ is implicit.
Only assumption I is implicit.

Either I or II is implicit.
Neither I nor II is implicit.

4 ﬁﬁﬁﬁ?:wmﬁ
mﬂ‘ﬁh’n g

FHIAT ﬁmﬁ'{f@ﬁﬁ@ﬁ((ﬁ:}aﬂ'{
gaft fram &

(A)
(B)

i H%@
2.4

4

:

LY gy

Iy
35
3
X
3
3,

:
:
1
.
E
:
17

aret Uit F PF fear &, @fas G 78
Sf 39 Hafy & S FEiET & 9t ®
F70 G feret & e € PF fieman & 1

S B T T L

R w1 R, T 3TF AR F G
il -
6 a1t P 309 F od w o
Qmmwﬁﬁm%ﬁﬁ#m’g
el & 3T fie 3ty vy o o # |
7. Toreft afgen sl & ot |, afz 39 2
it ) T 0 A 2, A R R S
w0 #, IR Pt H o Y  IE
gt Frefe dard gl ad Sg fe s E |
I Pt =1 Prefifed seds wa 3 afti
e W H AT T w fF Al G
31/31 PF % ferg oma 8 @ 74 |

Q. Nos. 109 to 113 : Directions : Read the

following information carefully and answer the

questions :

A company has following Gratuity (G) and

Provident Fund (PF) rules:

. Anemployee must have completed one
year’s service to be eligible for either G

or PF.
2. An employee resigning or terminated or
retiring afier ten years’ service gets both
G and PF.
An employee terminated or retiring after
ears but before 10 years’ service

five y
gets both G and PF, but that resigning
during this period gets either G or PF.

4. An employee terminated or retiring
before 5 years® service gets PF but not G;
but that resigning during this period gets
neither G nor PF.

However,

5 in case an employee dies after 2 years’
service, his family gets both G and PF.

6. in case an employee was on leave
without pay; such period is deducted
from his total years of service and then
above rules are applied.

7. in the case of a lady employee, if she has
completed 2 years’ service, two years are
added to her actual service before
applying the above rules, as a special
consideration.

Apply the above rules to the cases described in
each of the following questions and decide
whether the employee is eligible for G and/or

PF or not.

AT A I T 9T e Ao T I o St
RN O TR P T e o P T W SR R s TPl e, e TV o R S o T plh peT R Y e
5
DH-1
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110.

111.

(D) 3G i pF 2N Ry awa § |

B)
(C) :
) PF can be Ziven,
A T F 2y
fear | TR & e

(A) Hﬁ%ﬁaﬁﬁmmﬁn

(B)  afe F5aw pr foy

(C) =fg G_%‘m PF 3 ?ag?glﬁm S
a1 & |

(D) ?ﬁGGﬁIPF?ﬁq‘fﬁqmﬂ'ﬁ%:_

Mr. Ashok was terminated from service
after ten years,

(A) if only G can be given,

(B) if only PF can be given,

(C) ifeither G or PF cap be given.

(D) ifboth G and PF can be given,

aﬁu?ﬁaqf%%qﬁﬁana&ﬁﬂmmq

1 3N g=AH 2 foy | -

(A) IRFTFGHMuwsdh)

(B) fe %o PF fean smmsran 2|

(C) 3 G a1 PF & & 51 w oy
e B |

Mrs. Verma served the company for four
years and resigned. .

(A) ifonly G can be given.

(B) if only PF can be given. ‘

(C) ifeither G or PF can be given.
(D) if both G and PF can be given.

12,

113,

am%ﬁﬁ%ﬁﬂqmaﬁﬁm%
aﬁ?ﬁﬁaﬁﬁﬂ?ﬁaﬂtﬁﬁﬂw%

Wm:ﬁﬁﬂmiﬁm,ﬁiﬁ%mm
aﬁﬂﬁm:ﬂmmﬂl

(A) ﬂﬁ%aaﬁ?ﬁmm% |
B) =ft e PF femn s w4 |

() uﬁqﬁﬁﬁmmi:ﬁmﬁw
fm s wmar g |

(D) ‘TﬁGﬂTPFﬁ%ﬁ}‘Eﬁmm
a1 & |

Akshay worked for
Seven years and event
to0 a prolonged illnes

the Company for
ually resigned due
S that lasted three

(A) if only G can be given,

(Bl only PF can be given,

(C) if neither G nor PF can be given,
(D) ifeither G of PF can be given,

M%ﬂ&%ﬁﬁﬁ?ﬁqaﬁﬁaﬁmﬁm1
' ,mm%a;zaﬂ%m,aﬁ

FTEW T ooff IfaEr, =y
ﬁ*ﬂﬁﬁwﬁﬁmﬂw

(A) qﬁmcﬁmm% l
(B) afﬁaapr:ﬁ:mmm%i

(€) aﬁemwﬁﬁaﬁi%ﬁmm
HFATR |

(D) “ﬁGaﬂIPFaﬁﬁQWHﬁi l

Mrs. Deval worked at the company for
 three years, However, during 3/2 years of
that time, she was on unpaid leave,
Eventually, she was terminated from the
g : Y
(A) ifonly G can be given. Iﬁﬁ
(B) ifonly PF can be given.
(C) ifeither G or PF can be given.

(D) ifboth G and PF can be given.

L
TUTa AN PEITA

A TR A D eI TR

. e N T T B P T i NS AT T Gt

" N P ST TR Vs (P

e, R, TR

LS P

DH-1
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114.

115.

U e Cr W i LR T F o U

Y U qfem ferert & wa A A &
s AiRel 3 arrh Aenfem A4 R AT
qefit & wEy § v o oaafied #
Wﬁlwaﬁmlmm:

(A) AT i e war ge WA B

AT AT TR |

(B) AEIfem % Ar-faar @ @EuH
F@1 =i 3 durfaw g g

FT T |

FHTeR FRS 3T F FYUT T AR
1 IR e TR |

1o @ 3Tt 58 & we

(D)
&) TeTTe ol TR |

You are stationed as a p

woman reports phone har

minor daughter’s intimate

law, you should : o

(A) Ignore the case attributing fault to
the minor.

(B) Caution the mino
file statutory charges.

©

(D)

(©)

olice officer; a
assment of her
photos. As per

r’s parents and
Arrest the accused based on caller

ID traces. )
Advise parents to counsel their

daughter.

19 T
a‘rw:ﬁfgﬁﬁﬁm'-ﬁﬁ,

st 3 w9 8 ¥

- ‘
71 7T Tl & | 37T ;
(A) ffeqr T F T

s whad @ gEmE % o
ATl T &1 FET =R |
satie Ganall & sl FeE #
FY HT A |

o1 2T @ WA Y U o fere welt
=1 A HET MR |

vou are stationed as a police officer;
social media monitoring reveals plans for
unauthorized political  rally violating
prohibitory orders. You should:

(A) Arrest organizers for subversive

social media posts.
(B) Engage organizers (0 explain order
(&)

(B)
(€

(D)

Request temporary suspension of
internet services.

116.

restrictions.
(D)

Deploy forces to firmly deny entry
points.

SMILN

15

117%

am-gan A RIE owgE w g,
iR T A, feam, srew .
(A) awfr sazfed R wmTE ififzmn
Tzt ) Frro HweEf = |
wifiy 3 Feeed & ATl B I R

FT =R |
As station head in a riot-prone area, to
uphold communal harmony, you should :
(A) Monitor social media profile of
potential troublemakers.
(B) Make preventive arrests to avoid
©

breach of peace attempts.
(D)

Impose prohibition orders oOn

dangerous weapons’ possession.
Arrange talk  for inter-faith
confidence building measures.

mmwm%mﬁﬂmé;

ATl S-hd JEETse SIS h TEEH

aﬂﬁ#ﬁm,amaﬁ:

(A) &7 & wft qiE $ AT

et & foro FE =Ee |

(B) Frez TS 1 TaT A % T
wfrae e Al o1 g AT e |

() S 1 Frgaa @ Tifee AN fa
od gz & fakar 9% @@l #
frgeigur w37 =8 |

(D) wft sfirga JAeg YT Geed
3fit ¥ W wivEy ST =Ry |

You are stationed as a police officer; to
identify fake e-commerce website

scammers, you should :

(A) Monitor online purchases of all
citizens in the region.
(B) Assemble ethical hacker teams fo

trace site registrations,

o @S I AT LTV U T LN T, 4
e L ST T P R ST P i T O S TR S BT

(C) Hire hackers and analyze vendor
bank accounts without search
warrants.

(D) Ban all unauthorized online
shopping portals and apps.

DH-1
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118.

i arfieRTl B ; ues wiafie smenfas
%’“Eﬁ%mﬁmﬁ%ﬁw—s
ST B T A a:mr%yamﬁ:
(A) e afd B Hifta w0 5 3 99
mmﬁﬂmmmﬁm
wiF & @ﬁ&“ S & %
wfaag 1
%W@lﬁ%ﬂmmmiﬁﬁﬁ%ﬂ
TR T T W el =i |
HE FRCS H I w gu
Eﬂfﬁ%mmﬁaﬁﬁﬁmﬂiﬂmaﬁql

(B)
(€)
(D)

" You are an Investigating Officer; a

119.

celebrated spiritual leader |g implicated
in a sexual abuse scandal and requests
quashing of Jegal complaints ~ filed
offerin blessings angd funds for good
causes backed by you, You should :

(A) Partially “assist the leader in
limiting trial damage.

Commut to impartially investigating
as per procedure,

(C) Promise inaction legally but aid

secretly in access to vietim.

(D) Personally  conduct Prosecution
violating Standard norms.

AT

(B)

R B
When investigating
cases, Xou should : 1

Cl as undercover agent postin
inflammatory  posts  to

1 IR FHET R |
online radicalization

attract

responses,

(B) Obtain  court approval  for
psychometric analytics to be run on
such subjects. . .

(C) Share concernin unverified
smglpets_ on official channels for
ublic vigilance. 1

(D) Else specialized forensic counsellor
insights for pattern analysis.

DH-1

N ETRIL T Fe A Tl oy PRI A i, S T

16

a1 foresel 1 adt & 35 3o 1§ iy |

arciiih, MM A agEmd F wmn,
TR Tl Feat 3 En e & wfiy
HEH 8 RO BN R | 3 e 2
TR 1 A SR e B 2 | 3

(B) : 1fEn
AR ofgen Ao o et @ fes &
Faqam%raﬂmaﬁtaﬂua?mw
FT T1fg |

wffet et =Bt wftem e =i 3
STTUH TET T H e g9 ot
HITIRTE S T 1 Sy o i |
ﬁﬁqﬁaﬁqm‘lﬁrmmmﬁuaﬂt
Weg | g HAYY IET 3518 J Ty
ﬁ%mﬁmmml

You are an inspector in a crime branch

unit that deals with organized crimes and

gangs. You have been working in this
unit for the past three years. However,
due to g policy change, you are
tra.sferred to a women’s cel| where you
have to deal with cases re

lated to
women’s safety and empowerment. You
feel that this

15 a less challenging and
rewarding work. You should:

(A) Challenge the policy change and
argue that your skills ang
eXperience are better suited for the
crime branch unit,
Accept the policy change and use
your skills and experience to deal
with the cases in the women’s cell.
Accept the policy change and try to
maintain - your contacts  and
involvement in the erime branch unit,
Accept the policy change and I{:mk
for ways to get back to the crime
branch unit as soon as possible.

(€)

(D)

(B)

©)

(D)

ST T A L T S N v
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L a1 &) wrefieRar a9 ™ T

122.

o
o LT
A g T

A) &

( mﬁaﬁm—ﬁ;l

B) =g g Hfire

¢ I A1 =R | &

(©) mﬂmﬁmmﬁaﬁn%m%@aﬁ
T THR FH9=T Tifew |

(D) THI® &0 & =ms dm ¥ g
fFertsTan &5t 1 srraifen e =i |

A national security priority manhunt

enters climax when your Spouse meets a

serious accident requiring sy
rgery,
should : BT Yo

(A) Delay informing family to avoid

distraction.

(B) Take brief leave deputing
operational coordination.

(C) Handover full charge to deputy for
family priority.

(D) Strategically allocate expertise

areas among wider team.

T gfera stfiret % w9 A, 3mges fae 5
HeIHET Ui gon SguHl @t o
T B | 3T ; o
(A) gt d=fies W AT
s g‘-ﬁgﬁq Wﬁqr
(B) HRE -
HAT & "I mmfgﬁ
(C) @ W N A 73ty o R
;ﬁ%?%uﬁmmmmm
|
eI @ Bl mikE @ ge
Fat-uifdd WA 98 H AEA
T et |
As a police nfﬁCEII‘, minorities in your
district report experiencing religious hate
crimes. You should:

(A) Online profile
radical ideological groups.
Fast-track prosecutions announcing

(D)

surveillance on

(B)

exemplary sentences.
[mplement district cyber patrolling
to mass report hate posts,

Organize inter-faith peace initiatives

(C)
(D)

123, v qfem i B S

aniIgﬂfUﬁ * g;mhqfr;ﬁ%;mﬁm;

3 A Fe A T o) Forarh

a@ﬁ% | ATTH

(A) FTAR B T B g, Aakow
Rrerrara wfufh %1 a7 w5 =i |

(B) w3 Y9 W ferm wereeiietar wfinem
ATgget T HTI e |

(C) wuie sl & anfor e
FATATARYT %1 A HTAT F0fE0 |

(D) i G @ gu amet 5
aTet wSifAl St Tl w i |

As a police officer, you notice workplace

sexual harassment complaints from

women  constables against senior

officers. You should :

(A) Setup internal complaints

| committee promising action.

(B) Implﬂmenl mass gender sensitivity
training modules.

(C) Enforce transfers of implicated

personnel from command roles.

(D) Refer cases to external agencies

ensuring confidentiality,

U Yfera srfusrdt & &9 o, # Prefafaa

B ST e T FaT TeEH U Hw 8

(A) I are Tt o figaa when & |

(B) WesHemal @i a9 § % & foru a7
TN T |

(C) ATaifeh eI S GRET FTh |

(D) il W 3 uififs gt @

124.

involving community leaders.

AN D AT T e R T

17

Rleedl

As a police officer, I can best

demonstrate patriotism by :

(A) Accepting bribes from law
breakers.

(B) Using force to subdue protesters.

(C) Safeguarding democratic
institutions.

(D) Imposing my religious values on
citizens.

A AT AT AR PR AT P NEA TIVR A e
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125.

126. UF 3feq arfirmpmt & w9 34,

D‘ ﬁ ::lx fat)

qfera sifuremri * w9 W, SR gy
Eﬁr‘ N ST 1 9gH % o aeg-gay
T WET 3 YEATHA & AT TEar
Frfetfiaa & 8 39 @1 =1 9m w3 oy
ﬂﬁmgﬁqaﬁmiﬁﬁmﬁﬁmﬁ
R T
ﬁ?r@pgﬁamﬁ

e officer, you are n:quirt:dl to
Lo - training and evaluation

undcrEU Einggt:r skills af‘ld klmwlcdge,

E.::’h?ghazft the following 115 ;h?m?,??:f Tf

the institution that provi ?f1 ; g to

the Indian Palice Service O 1Llr2 5

{A) National Police Academy |

(B) National Defence Academy

(C} National Sccurity Gpard Acadgm},

(D) National Forensic Science Academy

39H; U

As a po

127. wfas (2) F e g

AR =, awﬁ%maaT@WEﬁ‘T
F AR G e i wie I R | g
AT WAt % arrmm, e & T
AT Sffshan w1 8 wrfem

(A) 1o foeft a3 ey T Eere

T 9EY |

(B) &?ww;ﬁlﬁmﬁﬁﬁ
mﬁmmwaﬁ.

(C) ma:raqanmxﬁ‘mﬁrmﬂﬁm

=i =t |
D) FrEwfm e 3H FH & fau
ST A oy 3gg 3t |
AS a police officer, you get g panic call
from 3 bank manager about an armed

robbery ip Progress with hostages. As per
standard

2 : - . L A
these shoylg be vour immedijate TeSponse

Rush to the crime scene directly
Without back-up

(B) Inform and coordinate with other
Cmergency services .

(C) Set-up  perimeter checkpoints  to
isolate the area .

(D) Use social media to gather public

information

Operating procedures, which of

5 FARR T e S e
. - T R e e
i S R ey e S o

18

128,

129,

131,

T TR 2 iy ?)
Ig':}d itable gy D)
ind suitg AMative
%Lucstiﬂn mar]?: ('?l),t SHERVE iy pPlace of
raveller - Journey . . Sailor : (?)
{F\; ater Shi
(©) Voyage D) Crew

ﬁq%ﬁ‘gamﬁm m
%mﬁnmmgmgifggg?ﬁ
B dema

(B) iy

words are

ave some comm o features
=Xxcept the odd ope. You are required tq

find ndc! one out,
(4) (B) Dignifieq
D) Devoted

iligent
Dissident

ey T Bt 3 T x

T 1 o el oo 53

Choose the correct alternative from given
190

ones that wi)| complete the serjes -
¥ i
® 210

20,24, 42 90 (1

(B)

3 “CHURCH" =
“S){;FRX"%@; GREC TR
%29 “TEMPLE” feran s 2
In certain cade "CHURCH" is coded as
OXIFSX™, how would “TEMPLE b

Written in that code ?
GVNKOV

(A} VGKNOV {_Bg
() VGKNVO (D) GNVKVO

U S I fow 6 7 Bl aerr 2, R
AT 3717 gz & 5 g e} werar 2, f
AT AT R 3% 9 fod) e 8, R R
ARt 3T ged 2 a4 I e @
e yrfives f2afy A S o 27

(A) 2 fenrit By 1l fF‘ﬁ

(Q) LBh o) lefen N
A PCTSOIL MOV es i_!l et L1|:'.c|.[|u~|.k b
T km, then turns lett and o es L.’f‘.f : 1:1,
agiin s left and moves I‘lj: : EF:Iul
nﬁnin turns aelt and muoves !13 8| .'|!]~].~'1 |
far the person is from mitial posttion |
(A)Y 2km () 1l tm
.[{_'_‘j 13 km ([ .I {1 : I.].] |

. TR e



133.

ﬁ?%%l?ﬁa,ﬁq%ﬁm
iﬁ;ﬁ?’mﬁjaﬁ?%lﬁm,mﬁ
, 3T <y
P gy T T
(A) Wi
(B) =y wyps
(©) wmy

ais Pramod’s sister,
mod’s Niece,

1 Shubha i
Prema’s daughter How ig Rahul relateq
to Shubhga 7

(A)  Brother

(B) Cousin

(C)  Maternal Unele
(D) Can’t be determined
e = “LINGUIST & TR, TR afk
TS el w0y ST auinre CRIES
IR 395 F e T FER T e
LU ) 5 D S AT Y 3
TG % TR 395 dher e T
HE & wee e s, At st = %
R R ufed sem & g 5 aren
(3 otaren sjen 3 HIER) & 7
If first, third and sixth letters of the word
“LINGUIST” are changed to

immediately preceding letters as per
English alphabet series and fourth and
seventh letters are changed to their
immediately succeeding letters as per
English alphabet series, then how many
letters are there between the third and
fifth letter of the newly furmeq word
(according to English alphabet series) ?

@) 6 il
© 8 o) &

their-

135,

/s

oo

136.

An a::lcurme clock shows 9 o'clock in
Morning, Through how many deg
hand rotate when

rees

the clock
shows 3 o clock in the afternoon gop the
same day 9
(A] 1652 (BY 170
(C) 1750 (D) 180e
RS C oD e— B 3y e mo
T H I

Study the followi

ng figure and answer
the question given

below -

O — ﬁﬂm #m / Emp]uyr.d people

O

A —> Tt s Educated people

ﬁ?ﬂ?{ﬁ@%?ﬁﬂﬁ%aﬁ%?

How many backward
edueated 9

(A) 5
(C) 22

People are not

(B)
(D)

17
12

ﬁqﬁf&aﬁﬁaﬁqmaﬁ@@, ge,

T % 9 Y R T s e g
g7

Which of the following diagrams best
indicates the relation between Sea, Earth,

Sun ?
O

(A) (B) O
©

O

O

(C) (D)

- ¥ o e R T e
’ T e A e 8 Tl
- TN W) S A T o
B L e R A e £
Fal (P WU T T
P s T sl

- FETR P VPRI ST R

A P PE TR

19

DH-1

Esinnad with CamScanies



137. EAHL:360+ 1244 %3

138.

TR ML

H-1

O IS v e o
198 4 it s g | U |4 It | A
maﬁa‘rrﬂwﬁ%mﬁﬁwmﬁﬂ
f,iirqh]ﬁm%muaﬁafmﬁ?mmﬁ

g%ﬁﬁﬁflﬂ%@'ﬁ%?ir{ﬁﬁn‘rgmaﬁ
A ) |
(4 501 937 1 517 &) | W

ﬁrrrq'i:iflrﬁé"ﬂﬁ.wﬁu"rwmaﬁ%aﬁw

Solve : 360 =12 +t4x3=9

(A) 15 (B) 42
(C) 102 (D) 106

K, GRWIIR, G, A R wgr g, A, R A
BRI Z, R, G & BT 2, 0 39 2 97 vy
BRIR?

K 1s older than G, G is older than A, A |s
vounger than R, R s younger than G,
then who anmong them is Youngest

(A G By K

(C) R (D) A

& E"F-FE £y ﬁ‘:ﬁ, |

éﬁgmméﬁa?mmﬁ,
-imamﬂ

qﬁma-—rﬁ&mﬁﬁ%mw%r |

ﬁ?ﬁfﬁ?ﬁﬁﬁ%fﬁqﬁﬁmmﬁr%:ﬁt
EIED wﬂmﬁm?ﬁ? ' |

A cuboid shaped wooden bl
length, 4 em breadth and ]
Two faces measuring 4
[
b em 1 e are
faces measuring 6 em x 4 om

'k hus 6 em |
¢in height.
em = | ¢moare
oloured in black, Two faces measuring
coloured in red. Two

are

coloured in green. The block is divided |

c

into 6 equal cubes of side | em {from 6 |

m side), 4 equal cubes of side 1 e

(from 4 em side), |

How many cubes will have green colour ‘

on two sides and rest of the sjdes having
no colour ?

(A) 4 {B) 8 [
(C)y 10 (Dy 12

141.

(C) 98724652 (1) 98764632

140, ﬁnﬁf@amﬁwmﬁmm%,m

TR S 578 2 o T, Pt g

T Irez m&ﬂTmWW?ﬁfiﬂm

Tl ® | T8 Mg 7 |

In the following question,

been  given, followed by

words, one of which cannot

using the letters of the given

that word,

PERPETUATION

(A) REPUTE (B) RETAIN

(C) PIPETTE (D) PENANCE

U WA % gfe e =fw g @ i

I FI99 et 41 % wieenen day

TE F R B A o 2 oo

Fr=frfaa mdame § ,

L wRTmos Aym Ay PR

I A 652 T HHT BT # |

U SE T 2, 491 6 R ady

FeTsiy 3 e ad g
&R 2

4, 7 Tt w faen T BN, safR

SIS Her  far wm oI wi

T o s 3 | IEIF T T4 & |

A health-conscious individyal Is trying to

remember the hotline number for a

recently established nutrition

consultation  service, He remembers

following points:

L. The phone number starts with 987,

4 Word hag
four other
be formed
word. Find

F I |

2. The phone number ends with 652,

3. The fourth digit is cither 2. 4 or 6
and not repeated in the digit of
numbers,

4. The fitth digit is the product of the

last digit and the fourth digit,
N, considering these conditions, the
individual has namowed down  four
potential phone numbers for the nutrition
consultation service, Find the suitshle
ane,
(A) 98762652

(B) 98748652

o



142, 19 we 8 0 FUF AN

R

o

——

g wrg 1 301l

aifisa < e fag o & | SR
& é il i F ww wEA R
ﬁﬁ:ﬁﬂﬁmf&wm‘éﬂﬁﬁ“ﬁ
S 2 F 3 A w w/A wwa A DS
o @ 3P T A R e w98

AT e /A R /2 |
o ; WIETERT 37e U8 IRIGET 1
HW%WWQHTIW

T & 3 g S R |

fosard _
L e A # ferdr @ whe

e 7 TR T g fh = It

& | .
sofieard ¥ W & oAmel A
T e 1 Fo Had |
Srorer Fred 1 1A ! & |

Srae frspd 11 HAFE Ll 2 |

(©) 13N IEH FFETFEE |

(D) A 13T I AT R |

In the question below a statement followed

by two conclusions numbered I and II is

given. You have to assume cverything in
the statement to be true, then consider the
two conclusions together and decide which

of them logically follows beyond a

reasonable doubt from the information

given in the statement.

Statement : The interview panel may
select a candidate who neither
possesses the desired qualifications
nor the values and attributes.

Conclusions :

I.  The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper.

I1.

(A)
(B)

II. The interview test has certain
limitations in the matter of
selection of candidates.

(A)  Only conclusion [ follows.

(B)  Only conclusion H follows.

(Cy  Both 1 and 11 Tollow

(DY Neither | nor H follows,

143, ar fwed T A f oy,

144.

145.

.ph_ﬂ'-! 7§
oft A HTR BTy gy

Choose the nlt-::r.nal.'-.w; which ia clonely
resembles the mirror image of the yiyen

combination.

FIXING

(A) GNIXIF (B) OWIXIF
© Axmo (D) DUIXIA
WﬂTﬂiﬁﬁaﬂTﬁ"{X)ﬁﬁQﬂgﬁﬁﬁ

m,cza,(a)aﬂx{a}ﬁ%wﬁmﬁ

TS ST Hehdl1 & |

Find out which of the figures (1), (2), (3)
and (4) can be formed from the pieces

given in figure (X).

n D
adv| B

Ax

(X) (. @ @) @&
@A) (1) ®) @)
© D) (@)
e R 3 & e @ R et ot F

fager Y@ W Hied | ded Far
< |

Find out amongst the
alternatives as to how the pattern would
appear when the transparent sheet is
folded at the dotted line.

H

from four

prmsess an

il L
(X) () {2) (3) (4)
(A) (1) (B) (@
() (3) (D) (4)
i e

Eepnd with Cambcanis:s



146. XM YW E |R, yarfard 1T, s

147.

- (A) @

TFAA TEA R 3 S, X /IO R | T, R A
form wm Tefug 2 7

(B) &t

(C) =& (D) 7§

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mother ~(B) Wife

(C) Sister (D) Brother
fr=ferfea § 3 =7 a1 fawer 9 e
reg| a1 Al 3 g 7

1. forg 2.4 Tel

3. T a. E’s‘ﬁﬂﬁt

5. = |

- Which of the following option would be

meaningful order of the following words ?

1. Infant 2. POId

3. Adult 4,  Adolescent
5. Child

(A) 5,4,3,2,1 "(B) 3,4,2,1,5
©) 1,5,4,3,2 (D) 2,3,4,5,1

148, as'm@ﬁrgﬁsﬁmﬁﬁﬁ‘%i

Choose the figure which is different

150.

22

mﬁmm#&?ﬁ ] I'I'?";".!':
€ | T WYR T W vAsE ¥ R Ry
Mfén vt w1 397 fpar som 7

There are 8 members in a friends group
who greet each other on the Deepawalj
day by sending cards. How many
greeting cards will be used for this
purpose by this group ?

(A) 50

(B) 56.

(©)..60

. ) 6@

@mﬁrs%ﬁ,ﬁrﬁ:ﬁaﬂumﬁﬁ%

~H 12,900 &fear § | AR vl 34 9

eI Wl @ = T sl e 2, ok
TS 92 % Tl Wl A i T ot
forera 2, v 98 =t fra frerm 2 ¢

A man divides ¥ 12,900 among 5 sons,

4 daughters and 2 nephews. If each
daughter receives four times as much as

each nephew, and each son receives five

from the rest, times as much as each nephew, how
% much does each daughter receive ?
%%% (A) T900
D@ @ @ (B) 1100
g Ei (B) (2) (C) 1200
S O @ (D) %1500

Dy, 5 o
h‘m‘-r,a — . ¢ AN PRI TRV AU IR T
=y “‘?WWWMWF T Tal (O T T Pl S, pPOT AT P P RATR Y n



